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COMPUTER SCIENCE SSC-Il
SECTION-A s 12

Time allowed: 20 Minutes

NOTE: Section—A is compuisory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part caries one mark.

0 1's complement of binary number 101 is:
A 111 B. 000 C. 100 D. 010
(i) Which of the following is a 4 — bit binary code?
A Unicode B. BCD C. ASCII D. EBCDIC
(iii) The output will be one if all inputs except one are zero in case of:
A OR operation B. NOT operation C. AND operation D. NOT of OR
{iv) What will be the value of Boolean expression xy+xy, when x=1 and y=07?
A 2 B. 0 C. 1 D. 3
(v) How many types of errors are there in a computer program?
A 1 B. 2 C. 3 D. 4
(vi) Equality operator is a:
A Logical operator B. Relational operator
C. Functional operator D. Arithmetical operator
{vii) Which of the following keys is used to run a program in GW-BASIC?
A F2 B. F1 C. F4 D. F3
(viii)  Which of the following statements is used to perform tasks repeatediy?
A IF ... THEN B GOTO
C. FOR ... NEXT D. ON ... GOTO
{ix) The elements in a two dimensional array are commonly referred to as:
A Singly-subscripted variable 8. Doubly-subscripted variable
C. Triply-subscripted variable D. Null-subscripted variable
(x) A routine that takes a value (String or number) as an input and produces a single value as output
is known as:
A Subroutine B. Module C. Function D. Sub-program
(xi) In a draw statement US0 means:
A Move upward B. Move downward
C. Move rightward D. Move leftward
(xii) The circle statement is used to draw;
A Line B. Point C. Triangle D. Ellipse
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COMPUTER SCHENCE SSCHI 7

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ and any twe questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sleet i.e. Sheet-B if required. Write your answers
neatly and iegibly.

SECTION-B '
Q.2 Answer any NINE parts. The answer to each part shoullinot exceed 3 to 4 lines. (9x3=27)
(i) Convert the following:
a. (10110), to (? _
b. (1583) to (7?7 )% v
C. (1001001), to (? )
{ii) What is meant by coding is computers?

(iif) State and prove Idempotent laws.

(iv) Construct the truth table for the Boolean expression(X +Y)- (XY)

(v) Develop a flowchart to find the sum of three numbers.

(vi) Differentiate between logical and syntax error.

(vil) What are the modes of operation in GW — BASIC?

(vii)  Describe various types of constants used in BASIC with examples.
{ix) Predict the output:

10 LET J=-3
20 PRINT J+2
30 PRINT “ABC” v
40 LET J=J+1
50 IF J<=1 THEN GOTO 20
60 END
(x) What is the difference between controlled and courter loop?

(xi) What is an array? Explain briefly the types of arrays with examples.
(xii) Describe the following library functions with exampise:
a. FIX b. HEXS c. SQR

(xiil)  Write a program to draw a circle using CIRCLE ststement.

SECTION-C 16
Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Q.3 a. Subtract (10001), from (11010), using 1’s and 2's complement. (04)
b. Explain the basic types of logical operators in Boolesn Algebra. (04)
Q.4 Describe the various steps necessary to solve a problem. (08)
Q.5 a How a file can be opened and closed? (04)
b. Write a program that fills an array with 16 random imlegers then PRINT the product of
elements of the array. (04)
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10 LET J=-3

20 PRINT J + 2

30 PRINT "ABC"

40 LET Jd=J+1

50 IF J <=1THENGOTO 20
60 END
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